
ECO-5 No. of Printed Pages : 4 

BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

O December, 2015 

ELECTIVE COURSE : COMMERCE 
O 

ECO-5 : MERCANTILE LAW 

Time : 2 hours 	 Maximum Marks : 50 

Weightage : 70% 

Note : Attempt any five questions. All questions carry equal 

marks. 

1. Explain the essentials of a valid contract. 10 

2. Define consideration. State the exceptions to the 
rule "No Consideration No Contract". 

2+8 

3. What are the various ways in which a contract is 
discharged ? Explain "Discharge by breach". 

4+6 

4. Explain the circumstances in which a surety is 
discharged from liability. 

10 

5. Define 'pledge'. When is pledge by a Non-owner 
valid ? 

2+8 

6. State the rights and duties of an agent. 5+5 
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7. Define partnership. Is it necessary to register a 
firm ? What are the consequences of 
non-registration of a firm ? 	 2+2+6 

8. Explain the rule of "Caveat Emptor". What are 2+8 
the exceptions to this rule ? 

9. Answer the problems given below. Give reasons 5+5 
for "Yes" or "No". 
(a) 'S' offered a reward of Z 500 to anyone who 

finds his lost dog. 'F' brought the dog to 'S'. 
However, he came to know of the reward 
later on. Can 'F' claim the reward from 
'S' ? 

(b) 'B' borrowed from 'A' Z 45,000. C, D and E 
were cosureties who had bound themselves 
to compensate up to Z 15,000, Z 20,000 and 
Z 25,000 respectively. If 'B' fails to pay, how 
much will each surety have to pay ? 
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